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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN

OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE
TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series Code A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Sheet. Any omission / discrepancy
will render the Answer Sheet liable for rejection. ~ ]

You have to entér your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 125 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You wiﬁ select the response which
you want to mark on the Answer Sheet. Incase you feel that there is more than one correct
response, mark the response, which you consider the best. In any case, choose ONLY ONE
response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See
directions in the Answer Sheet.

All items carry equal miarks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet a§ per instructions sent
to you with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer Sheet.
You are permitted to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN

THE OBIJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate. one-third of the marks assigned
to that question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.
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Which one of the following figures correctly
represents the relations between Jupiter,

Mars and Planets?

(3
O

Consider the following Statements and

Conclusions :

Statements : Mohan is a good sportsman.

Sportsmen are healthy.

Conclusions : I. All healthy persons are

sportsmen.
II. Mohan is healthy.
Which one of the following is correct?
(a) Only Conclusion I follows
(b) Only Conclusion II follows

(¢) Both Conclusion I and Conclusion II

follow

(d) Neither Conclusion I nor Conclusion
Il follows

* o

2

Which one of the following layers of

atmosphere has high concentration of ions ?
(a) Stratosphere

(b) Exosphere

(¢) Thermosphere

(d) Troposphere

Which one of the following cities has greater
annual range of temperature ?

(a) Kuala Lumpur

(b) New Delhi

(c) Shanghai

(d) Ulaanbaatar

Match List I with List II and select the
correct answer using the code given below
the Lists :

List I List IT

(Climate type in (Major area)

letter code)

A. Aw 1. Central California

B. Af 2. Indian Sub-Continent

- Cs 3. North and South of
Amazon Forests

D. Am 4. Western Equatorial
Africa

Code:

A B C D

@ 3 1 4 2

(b) 2 4 1 3

c) 3 4 2

d 2 1 4 3

(Contd.)
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Prefafes sul v Pseel 9y f&ER
EHIED e
FUT - Wed T ol faargy 2
faedl w@ey Bl 8 | |
fresd . I @ wey ¥ Rears) 8
2l
[I. A89 @E 2|
(a) Haa frewd | spafia @ar @
(b) ae Prssd 11 s dar 2
(c) Prswdd [ 3t Pyseel 11 QAT snfEa
A &
(d) 7 @ Fyswet [ 7 & Freal 11 e
gl 8

*

agavese 1 Frefafea ol 7 9 5w
¥ Il @ |igar sfue B 87

(a) THATTHUSH (T2 ETEHIUT)

(b) afedvsd (TEEEHIER)

(c) W agHosH (e

(d) eNsHvsE  (QIIEHR)

Preafafag o) & § e @ 7 qoEE
#1 arftfe oftEe svem@a Afds s 8 7
(1) FHIEATEIT

(b) 7% feeeht

(c) wiarg

(d) IS

g A g 1§ ghfa fie R
qﬁﬁ%ﬁﬁﬁﬂﬁzmmw
Hﬁ?ﬁ'{’gﬁ'ﬁ:

T 1 T 1
(T gz W FAg (99F &A)

qFIT)
A. Aw 1. @wam o
B. Af 2. WA I9HERIT
B, Cs 3. 3T ST I

ug afe

D. Am 4. e RgEda
fZ;'

A B C D
@ 3 1 4 2
b 2 4 1 3
@3 4 1 2
@2 1 4 3

(Contd.)

U] "U8|YSUOMIAOLY) WoJ4 siaded aIo|\ peojumoq


https://govtjobsalert.in/

U] "U8|WYSUOMIAOLY) WoJi4 siaded 8I0|\ peojumoq

Ramsar Convention, to which India is a
signatory, is related to conservation and wise

use of :

(a) wetlands

(b) genetic resources

(¢) mines

(d) forest iands

Which one of the following rivers flows

between Satpura and Vindhya ranges ?

(a) Tapi

(b) Sabarmati

(c) Narmada

(d) Mahi

Which one of the following is the correct

taxonomic hierarchy ?

(a) Kingdom — phylum — order — genus —
family — class — species

(b) Kingdom — order — class — phylum —
family — genus — species

(¢) Kingdom — class — order — phylum —
family — species — genus

(d) Kingdom — phylum — class — order —
family — genus — species

The subunits of DNA are known as :

(a) Nucleotide

(b) Nucleosome

(c) Nucleoside

(d) Polypeptide

*

10. The process of using microbes to treat areas

11.

12.

of land or sea that have been contaminated
by pesticides, oil or solvents is known as :
(a) Eutrophication

(b) Nitrification

(c) Ammonification

i S S

(d) Bioremediation

How is the rate of transpiration affected by

decreasing humidity and by decreasing light

intensity ?

Decreasing humidity  Decreasing light
intensity

(a) Decreases Decreases

(b) Increases Decreases

(c) Increases Increases

(d) Decreases Increases

Vaccination involves :

(a) injecting the body with materials that
stimulate the body to produce
antibodies

(b) injecting the body with materials that
stimulate the body to produce antigens

(c) the use of monoclonal antibodies to

cure a disease

(d) use of antibiotics to cure diseases

(Contd.)
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AR RBrw wdamaEl & &= agd 2 7
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(b) TETT
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iU EL B

(a) v (FPmsH) — T — 707 — WA — Bl
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(b) WG — VT — AW — FU — HA — I -
arfar

(c) W — a1 — T — HY — A ~ WA —
g ;

(d) e — §9 — @ — W7 — FHA — I~
ElIG]

DNA # IusHrRdl # F1 #sd & 7
(a) “gFIsNCIES

(b) Ffsam (e

(c) gfFmsiETEs

(d) uifeeeTEs

* L

11.

10. gew-ofdl & IW@T G g T P

37 & F1, A fEFAEE, dd X
el g agftd & T E, IUE
# gfFur F1 wEAT 8 ¢

(a) Ao (GQfERET)

(b) ATEETOr (ATEER )

(c) AT (srifwe)

(d) HfaF Iyare (F-FEfsae)
amareae @Y 8¢, gedl ga Smadl @ g

M gedt g€ gy A dwar & gra fhE
g gfad gt 8 7

wedr g% smAAr Wl g2 W A A

(a) wTd B gedr B
(b) wadt # el B
(c) W 2 agdt 2
(d) Tt 2 qadl 2

o ¥ Fa1 8 2 7

(a) O ¥ A waef sl ()
FAT o WAL HT gfaelt I FE
# oy I@ftg &@ 2

(b) TR A W weref s w W
7R # e e w @ ol
I6RE F B

(c) et A § Tgwa FA & @
wwFAAT gfaEar &1 Iuan |

d) B dr ¥ g FA b TR
gfertfady &1 I |
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13.

14.

Which of the following are examples of
carnivorous plants?

(a) Sundew Venus fly trap, Pitcher plant
(b) Cuscuta, Rafflesia, Mistletoe

(c) Sandalwood tree, Broom rape, Pitcher

plant
(d) Cuscuta, Bladderwort, Mistletoe

Consider the following :

W

a

o 0O 00 A

A B Av oe o
*k

O *k *

Which one of the following figures will

come in the blank space ?
@ |~ v
T ———
88
(b) »
S
a4 38
© |
B A
@ |°
A
— 33

* o

15. Consider the following diagram (not in

16.

scale) :

There are seven places marked as P, Q, R,
S, T, Uand V as shown in the diagram. The
directly connected paths between two places
are indicated by line segments joining the
two places along with the length labelled in
km. Then, the shortest distance between P
and Uis:

(a) 14 km
(b) 15km
(¢) 12km
(d) 13 km

The number of persons reading newspaper
is shown in the following Venn Diagram
(Survey of 50 persons) :

Paper | Paper I1

Paper Il

In a population of 10000, what is the number
of persons expected to read at least two
newspapers 7

(a) 5000

(b) 6000

(¢c) 6250

(d) 5400

(Contd.)
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13.

14.

Prfafeg & & #19Q, 9w w4 @

IGe 8 7

(a) ¥ey @ @ ¢¥, wewd e
(Rraz =ie)

(b) smEe (Fwwswer), Twanm, e

() w3, &Ry (PR), Tewdt T
(frax =iie)

(d) AT (FEwel), srswae, e

ﬁﬁﬁf@'ﬂﬂﬁ'ﬂﬂmﬁ:

LEd

O O o0 A

V. [eel === s

b |"

© | =

(d) A

* =

15. Prefafaa smvg X fEr #IRE (3T
& FIER L) :

Sur & R W gofyr mar B, 9@ w09 P
QR ST, UM v ffga &1 @
A # 9w @Y S8 g U, km H
sifbg oeaTE @ 9™, 99 QA1 e &
Jred &Y v@r @vs F a9 T ¥
@A PR UD g =g g8 Fa1 8 7
(a) 14 km
(b) 15 km
(¢) 12 km
(d) 13 km

16, SUERGF B A sfad # gen Preffed
I-amee ¥ zois g & (50 wufEmdl &

ﬁm) ;
FANERGA |

=
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gHETEaA

10000 ¥ vEen ¥, W@ e ol
F 2} # e 2, W FH-Q-FH I
FHTEYS Yed & ¢

(a) 5000

(b) 6000

(c) 6250

(d) 5400
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17.

18.

19.

A vehicle with mileage 15 km per litre
contains 2 L of fuel. The vehicle gets some
defect as a result of which 5 L of fuel gets
wasted per hour when the engine is on. With
what minimum speed the vehicle has to
move to travel 20 km with the existing
amount of fuel, if it travels with a uniform
speed ?

(a) 100 km per hour

(b) 120 km per hour

(¢) 150 km per hour

(d) 200 km per hour

Consider the following statements relating

to Sea Salinity :

1. The ocean salinity depends on
evaporation and precipitation

2. Any change in the temperature or
density influences the salinity

3. Major source of sea salinity is
terrestrial discharge by rivers

Which of the statements given above are

correct?

(a) 1and2only

(b) 2 and 3 only

(¢) 1and3only

(d 1,2and3

Consider the following statements relating
to salt production in India :

1. Indiais the second largest producer of
iodised salt in the world next only to
China

2. Salt mining is carried out in Himachal
Pradesh

3.  Gujarat is the leading producer of salt
in India

4.  Ground water is the important source
of salt in Rajasthan

Which of the statements given above are

correct ?

(a) 1and2only

(b) 3 and 4 only

(¢) 1,2and3

(d) 2.3and4

* oo

20. Which of the following statements relating

Z1.

to Dharwar geological system are correct ?

1. They belong to Archaean geological
period

2.  They are metamorphosed sedimentary
rocks

3. They are of great economic importance

for its mineral resources

4. They are found predominantly in
Karnataka, Tamil Nadu, Odisha and
Jharkhand

Select the correct answer using the code

given below :

(a) 1,2,3and4
(b) 2,3 and 4 only
(c) 3 and4only
(d) 1and2only

Which one of the following is the correct

order of formation of geological systems in

India in terms of their age ? (Starting with

the oldest)

(a) Dharwars - Aravallis - Vindhyans -
Cuddapahs

(b) Aravallis - Dharwars - Cuddapahs -
Vindhyans

(c) Vindhyans - Dharwars - Aravallis -
Cuddapahs

(d) Cuddapahs - Vindhyans - Dharwars -

Aravallis

(Contd.)
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17.

18.

19.

w g §, R @ud @ 9 (AR )

15 km/diex 2, 2 dfex fu= 81 @ #
wm@mﬁ%w&mmq T B
o R W, 5 dex fu af wver was
21 2| o amd THewd 9| d =
g @ 9 &a I § Fo 9l

Rredr 20 km #1 g8 weE fg7 H gl A

I

(@) 100 km gfa =veT

(b) 120 km YRy wweT

(c) 150 km 9fr =ver

(d) 200 km ¥ia =9I

g wavr & gag A Preffe wa

1. HEmTE # aauEn asdier 3R s
ur st &l 2

2. QUET 91 9AE W e ufad| aaerd
F gaAd I B

3. WHE dEvd & qed Hiw Akl g
ey PadT 2

Iuda FuAT & HAE GO ¥ L

(@) @aa 1 AT 2

(b) Fad 2 3T 3

(c) dad 13T 3

(d 1,23 3

ad ¥ A9E geured @ gy 7 Fefafaa

w41 g 3= FIRE

. WRE, AT 796 F IeqEA HA
qieT, Bae 99 B TR qEA oY a8
w2

2. A9F F @49 fBHrEe y_wW H el @

3. TECd WId FT S AAE IeUEd 8

4. -9, ToEdE ¥ ANE B Al
a2

Iyde FuAT A @ w9 @ ¥ 7

(@) @aa 1 AT 2

(b) ®aw 3 AT 4

(c) 1,2 3T 3

(d) 2,33 4

*\O

20.

21.

Prefafa a1 ¥ § S99 gRas awhs

Prom & wam ¥ W ¥ 7

1. ¥ e () s@Ewifre sEf
® 2

2. ¥ Fwiaid aerd der g

3. %mﬁ@ﬁam%mm
Fitfe weca B 2 |

4. A FAtes, dficrg, A AT ATETS
¥ gyEdr ¥ U@ W 2

T BY W FT & T F FE I

' ﬁ :

(@ 1,2,33 4

(b) ®ad 2,3 3 4

(¢) ®aw 3 T 4

(d) dad 13T 2

Prerffa # & Frar w, wa # @
TR B T F, ITH AY B AR W,
a8 w9 & ¢ (WrEad § IR #X)

(c) fiwr - aEE - yuad - F

d) FsT - Rew - gRaw - JCE
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22.

23.

24,

25.

A change of state directly from solid to gas
without changing into liquid state is called :

(a) Fusion
(b) Sublimation
(¢) Diffusion

(d) Emulsion

Water at 273 K is less effective in cooling
than ice at the same temperature. It is

because :
(a) water is difficult to handle

(b) waterat 273 K has less energy than ice
at the same temperature

(¢) water at 273 K has more energy than
ice at the same temperature

(d) water is not a cooling agent

Which one of the following statements is
not correct ?

(a) The rate of evaporation depends on

temperature

(b) The rate of evaporation does not
depend on surface area exposed to the
atmosphere but on volume of the liquid

(¢) The rate of evaporation depends on
humidity of the surroundings

(d) The rate of evaporation depends on the
wind speed

Which one of the following is not a
colloid ?

(a) Milk

(b) Mud

(c) Butter

(d) Boric acid

26.

27

28.

Match List I with List II and select the
correct answer using the code given below
the Lists :
List I List IT
(Isotope) (Application)
A. Carbon 1. Treatment of goitre
B. Cobalt 2. Calculation of age
of the earth
C. lodine 3. Treatment of cancer
D. Uranium 4. Fuel in nuclear
reactors
Code :
A B €C D
@ 2 3 1 4
b 2 1 3 4
c) 4 1 3 2
(d 4 3 1 2
A device can write 100 digits in 1 minute. It

starts writing natural numbers. The device
is stopped after running it for half an hour.
it is found that the last number it was writing
1sdincomplete. The number is :

(a) 3000
(b) 3001
(©) 1026
@ 1027

A circular coin of radius 1 cm is allowed to
roll freely on the periphery over a circular
disc of radius 10 cm. If the disc has no
movement and the coin completes one
revolution rolling on the periphery over the
disc and without slipping, then what is the
number of times the coin rotated about its
centre ?

(a) 10
(b) 10.5
(c) 11
(d) 12
(Contd.)
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22,

23.

24.

25.

o @ e ¥, e oga F aEd, s@Em
qftada, ¥ @gamr & ¢

273 K X 9, a4 & A a1 a6l

g ¥ fiqes ® Fu gl @ B 1w

w8, |

(a) W N WWEAT FeA Bl B

(b) i ¥ 273 K 9%, 304 & qHe &
o B o ¥ wW I A 2

(c) = A 273 K T, WA & dvHT #
a% WogeA A s Fe A @

(d) v & Hiaos A8 8

Prerffee ®u=T § ¥ F199n O, §el 981

2?7

(a) AEHFIOT A & AHA gt fsdx
Bl B

(b) aofETOT F I AGHISH FN A

g@rgﬁg@umﬂaﬁ,m
zeg & ymEa 9¥ At @t 2

(c) arsdiTer F g uRdw # T W
Prefr B 2

(d) arsfror # T Ay A A 9 e
2l 8

P ¥ @ RAE o, Peigs 7@
g 7

(a) @

(b) 9%

(c) WFEA

(d) S& 3IFd

[e—
—

*

26.

27,

28.

1A o 0¥ gk #RE R
gl & Y RY ™ Fz & 7@ T
Hﬁwgﬁi:

g 1 = 0
(FHET) ( STFFAT)
A. FEA 1. Har 7 F ITER
B. ®WRC 2. G Y B AT
C. IAsH 3. FET F IR
D. Qe 4. AT R &

ELE|

T2

A B C D
@ 2 3 1 4
®) 2 1 3 4
¢ 4 1 3 2
@ 4 3 1 2

wF 7= | e § 100 o fore whar 2 |
wawwﬁﬁﬁmmm%t
T% F I gL IATH B 4g weg BT [edl
T ) 78 U wn 8, B o@w dm@ W
staw wem fora @1 a1, 98 Agh 21 TE
qer ¥4 8 7

(a) 3000

(b) 3001

(c) 1026

@d) 1027

w 1 om w3 g R A @
10 cm Brear & gefrm =fke & aRfg
A &9 Q@ gedl fogr mn 8 1 AR =k
N # wfy AE B AT Ry =fbdr A
qRfr X geda g 3 RAT hEd &
oRewRer Q@ S 8, @ R 3 Im
deg @ uita: faAr @ goiA fFar ?
(a) 10

(b) 10.5

©) 11
@d 12

(Contd.)
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29.

30.

31.

32.

Which one of the following is different from
the remaining three ?

(a) Triangle
(b) Square
(c) Circle
(d) Ellipse

Which one of the following inequalities is

s am ~ ann P ooy

always true for positive real numbers x, y ?
(a) xy>x+y

(b) (x+y)<(x+y)y

() x+y<xi+y’

d l+x+y<(l+x+y)

Which of the following statements are
correct ?

1. Kolkata portis the only riverine major
port of India |

2. The port of Cochin is located on the
Willington Island

3. Mabharashtra has three major ports
Mundra port is India’s major port in
private sector

Select the correct answer using the code
given below :

(a) 1and?2only
(b) 3 and 4 only
(¢c) 2,3and4
(d) 1,2and4

Perth located on 118° East Longitude will
be celebrating New Year event on 1% of
January 2017 at 6:00 AM. At that time, what
would be the time at Los Angeles located
on 110° West Longitude ?

(a) 9:12 PM of 1* January 2017

(b) 2:48 PM of 31 December 2016
(c) 11:40 PM of 31* December 2016
(d) 5:28 AM of 1* January 2017

(U8}
da

35.

36.

. Which one of the following states has the

maximum number of registered E-Waste
recyclers / dismantlers ?

(a) Maharashtra
(b) Tamil Nadu
(¢) Karnataka
(d) Uttar Pradesh

. Arrange the following substances in their

order of increasing hardness :
1. Gypsum
2. Topaz

3. Fluorite

4. Feldspar

Select the correct answer using the code
given below :

(a) 4-3-2-1
(b) 1-3-4-2
(¢) 3-4-2-1
(d) 1-4-3-2
During 2014-2015, in which one of the

following industrial sectors, the FDI equity
inflow was maximum ?

(a) Telecommunications

(b) Services (Financial, Banking and
Insurance, Non-Financial / Business,
R & Detc.)

(¢) Drugs and Pharmaceuticals
(d) Hotel and Tourism

Which one of the following is mer an
industrial corridor as per the policy
initiatives ?

(a) Amritsar - Kolkata

(b) Delhi - Mumbai

(¢) Kolkata - Guwahati

(d) Chennai - Bengaluru

(Contd.)
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29.

30.

31.

32.

Prafafeg & & St ©H, A9 o9 &
frr 27

(a) g

(b) @

(c) gd

(d) drefge

Preafofeg sefasei § & FF6 o,
gATCHE anRdid® gel x, y @ ol gAe
g g 7!

(@ xy>x+y

(b) x+y)<(x+y)

(€) x+y<xi+y’

(@ 1T+x+y<(l+x+y)y

Prfafea & & F98 $u7 @8 8 7

1. SIoElEl @GNS MG 1 THAE T
e FEE 8

2. FEA B TEUNE dfened. a9 I
yafeud 2

3. wWEReE, ¥ W He g @

4, gmammmﬁvﬁa}aﬂ
e qENE 8

A RY W F w W@ F GE OIW

T

(a) Pad 1 30T 2

(b) ®ad 3 AT 4

(c) 2,33 4

(d) 1,2 3 4

ud, 9 5 118° gdf Ao o¥ sl 2,
g1 a1 sFad 2017 1 q@EA 6:00 o
HATQN | 39 g9 oW duetd H, o1 &
110° ufdesfy Romax W waftaa 8, F4
qwyg B 7

(a) 1 9Had 2017 &1 9:12 & AITET
(b) 31 REwa¥ 2016 F 2:48 & ITTEA
(c) 31 RE=T 2016 F1 11:40 &5 HITEA
(d) 1 a8 2017 F 5:28 &9 algA

33.

34,

35.

36.

Preafafag ool ¥ & fbg e & 3%
% gaiftes SofiFa Qs T IqEET
g ?

(a) WETIEG

(b) THAATY

(c) ®AleH

(d) I yem

Prefefan gerdf #1 I9# Sedl g€ Fore

F #9 ¥ ogattyd PeE

1. s

2. T

3. WIsUEe

4, HEETL

A R ™ &z F T@T F Fel I

RO

(a) 4-3-2-1

(b) 1-3-4-2

(c) 3-4-2-1

d) 1-4-3-2

2014-2015 & @ra, Prafafaa stafis

@ ¥ & fhw uws #, FDI $¥ad) @1

yqate. wafftes ar 7

(a) GLEAR

(b) dard (fasfa, A&fwn st &
ir-faeha/emR, sgEa™ T Rem
Zeuria)

(c) ®ad. ud 3wy

(d) Bed wd wded

freafafag ® @ #aa us, Afemd 98d@

& gare e i @ 8 7

(a) IHATI-hIeThral

(b) Reeh-Hag

(c) FIcTRTaT-TETBTEY

(d) FAL-IgE
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37.

38.

39.

40.

Which one of the following statements is

not correct ?

(a) Bleaching powder is prepared by the
action of Chlorine on dry slaked lime
[Ca(OH),|

(b) Bleaching powder acts as a reducing
agent in many chemical industries

(c) Bleaching powder is also known as
chlorinated lime

(d) Bleaching powder is used for
disinfecting drinking water

Which one of the following statements is
not correct ?

(a) Graphite is a non-metal

(b) Graphite is an allotrope of carbon
(c) Graphite is a conductor of electricity
(d) Graphite has a tetrahedral structure

Consider the following physical quantities :
Energy, power, impulse,

temperature, gravitational potential

pressure,

Which of the above is / are the vector
quantity/quantities ?

(a) Impulse only

(b) Impulse and pressure only

(¢) Impulse, temperature and pressure

(d) Gravitational potential

A piece of stone tied to a string is made to
revolve in a circular orbit of radius » with
other end of the string as the centre. If the
string breaks, the stone will :

(a) move away from the centre.

(b) move towards the centre.

(¢) move along a tangent.

(d) stop.

41.

42.

43.

Which one of the following statements is

not true ?

(a) The gravitational force of earth acting
on a body of mass 1 kg is 9.8 newton

(b) The force acting on an object of mass
5 kg moving with a uniform velocity
of 10 m/s on a frictionless surface is
Zero

(c¢) The SI unit of weight is kg

(d) The momentum of a man having mass
100 kg walking with a uniform velocity
of 2 m/s is 200 newton second

Which one of the following statements is

correct ?

(a) Acceleration due to gravity decreases
with the increase of altitude

(b) Acceleration due to gravity increases
with the increase of depth (assuming
earth to be a sphere of uniform density)

(c) Acceleration due to gravity decreases
with the increase of latitude

(d) Acceleration due to ‘gravity is
independent of the mass of the earth

A Barometer kept in an elevator reads
760 mm when the elevator is at rest. When
the elevator moves in the upward direction
with increasing speed, the reading of the

Barometer will be:
(a) 760 mm
(b) <760 mm
(c) > 760 mm
(d) Zero
(Contd.)
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38.

39.

40.

Preafafem a1 F ¥ FE @ @d @
2 7

(a) faies of, o7sF g9 g7 [Ca(OH),]
T FArE @ e g du

W @

(b) fotem =of #% wwmfs s ®
TH FUEHE D ®Y F HE H o

(c) s =of & 78T g7 5 &0
¥ off 9T 9ar 2

(d) Fed i &1 I Yoo @ s
& 3 o o smar 2

Preafafaa & & #tFar ud Fu7 F81 7@
g 7

(a) AWEZ UF IuR| B

(b) wEE FEA I UF IULEY 2
(c) Twree fagga =+ uF werh 2

(d) wrEe F7 ageECRE HTEAT Bl 2
Prefofea fds ofiml w f@am i
fawa

Suddd ¥ & Fraeh, aRw i/ afint 2/
g7

(a) Had HEAW |

(b) Fad FET I T@

(c) 3w, qEE R qE

(d) Teed v

UL P TH THS B TH SIA § (Y HY
r Bromr @ g<ho wem ¥ gEm@n W@ R,
fras #g ot 8 &1 gwa {a 2 aR
I gedt 8, @ weR

(a) F=% q X wmQm

(b) ®v& H TXH AT

(c) Wh wgeieenr & AR =

(d) & ST

41.

42.

43,

Freafafaa Fa1 F @ F9a & T8 72

g 7

(a) feY 1 kg wewmT & uh fvs o3 &l
FIA gl gl w1 & T
9.8 e BIal 2

(b) & wdvET W 9 10 m/s F THEEA
ar § wfeara 5 kg wegw @ T

g&] 9 WA den & Fd B @
(¢) WX ¥ SI z&HE kg B 8
@d 2 m/sd THEEE AT F TA W
100 kg %o & TH offd H wI
200 YTA-TFS Bl B
Prafafe s F @ FE @ w8 8 7
(a) 9 FEA B WY-wF [Eedd @
Hedl Wl @

(b) TETE WA B WH-TY Ay I
ggar wmar & (AR gl A owHEE
gqcd &1 Uh Mal "E fou §d)

(c)/ erw & FeA F WU-WH Tecdl
@ gear Sl 8

(d) TeAm Ao gl F gew 9T PR
A8l HL

forelt Aferex ® war gan e 760 mm
#1 T gliar 8, 9§ Uerdex Rom sEed
¥ 21 ww UWrdex wed g I R
FAT B GCF T q§ SR T I
ggan ?

(a) 760 mm

(b) <760 mm

(c) > 760 mm
(d) A
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45,

46.

Which one of the following statements is
noft correct ?

(a) The earth’s magnetic field is due to the
motion of metals like iron and nickel
in the core of the earth

(b) The magnetic field lines of force are
widely separated near the poles of a
magnet but these lines come closer to
one another at other places

(c) Ifthe cross-sectional area of a magnetic
field increases, but the flux remains the
same, the flux density decreases

(d) When thespeed of a conductor moving
through a magnetic field is increased,
the induced voltage increases

Let a resistor having 4 ohm resistance be
connected across the terminals of a 12 volt
battery. Then the charge in coulomb passing
through the resistor per second is :

(a) 12

(b) 4

(c) 3

(d) 0.33

Arrange the following varieties of silk in
India in their order of decreasing production :

1. Muga

2. En

3. Mulberry
4. Tasar

Select the correct answer using the code
given below :

(a) 3-2-4-1
(b) 3-4-2-1
() 2-4-13
(d) 2-1-4-3

47. Which of the following are the objectives

48.

49.

of the Khadi and Village Industries
Commission ?

1. To provide employment in rural areas

2. To produce saleable articles

3. To create self reliance amongst people
and building up a strong rural
community spirit

Select the correct answer using the code

given below :

(@) 1,2and3

(b) 1 and 2 only

(¢) 2and 3 only

(d) 1and 3 only

Which of'the following statements concerning
circum-pacific belt are correct ?

1. It is an active volcanic realm
2. Itisan active seismic realm

3. Itis adivergent plate boundary
4, It is prone to Tsunami

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b) 3 and 4 only
(¢) 1,2 and 4 only
(d 1,2,3and4

Which of the following statements relating
to solar system is / are correct ?

1. Venus and Uranus rotate opposite to
the direction of rotation of Earth

2. Venus is the nearest planet to Earth

Select the correct answer using the code
given below :

(a) 1only

(b) 2 only

(c) Bothl and2
(d) Neither 1 nor 2

(Contd.)
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44, Freafefaa FaA1 7 § 7@ o, w8 7@

45.

g ?

(a) 9! & graay &, e A HEa
St aiget w1 g & ws A gEed
Bt & w2

(b) =W &7 T @], G geF @
gal ® §lY T-gEl § I QTR
Bt 8, Ak sy TyET W ¥ wE-gEt
@ @dg a1 W 8

(d) v et graay & # afoefie R
Hiers @) g W & 9t 2, @ IRa
Areqr agd 2

gz 4 s g . ufedes w

12 9ee @ d<8 & R = am Rar g,

@ yfeas & ufy ¥HvE e ard FEAw

¥ (mets ®) feem oRads @ ?

(a) 12

(b) 4

(c) 3

@ 0.33

g § Y @ Preafifae e &

I IeqEA d WA gU KA A egaread

ifd .

T
B3y

weqd e (FeCE)

. TET

g R ™ F 1 TT L FE I
I

(@) 3-2-4-1

(b) 3-4-2-1

(c) 2-4-1-3

@) 2-1-4-3

ol ol ool e

47.

48.

49.

frefofea & & S8, @dl @ aEm

I B I e 7

1. uor &3 ®§ Q9T Iuersy HOAT

2. ffrg awgal &1 SeURA AT

3. @M W wEEesEE Je0ed FEI A
UF dugd  UH-9EEIAE  9EEar &6
fafor &en

o RY ™ &z & W@ F GE I

T

(a) 1,23 3

(b) #ad 1 3T 2

(c) ®aa 2 3T 3

(d) ®aa 13} 3

gar fafks Aee & gy ¥ Feafafeg

HgA] § ¥ HAG o B 7

1. 98 T gfkg wamndE ufsd 2

2. U8 U whHg medy uievsd 2

3. g% uh uErd wie il @

4, Tg gAH-¥EU B

g Ry M %z & 9@ F W IW

9 4

(a) Sae 1 AT 2

(b) ®ad 33 4

(c) ®ad 1,280X 4

(d 1,2, 33 4

g% wREr & ey ¥ Fefataa a1

¥ q B/ G 2/8 7

1. 6 3 AW g A gl Rar F
ol gfa @ 2

2. WF yA @ fdeaw uE 2

fw Ry @ Fz 1 W@ F GE I

g

(a) @ad

(b) Fa 2

(c) 130X 2 A1

@ T AL TE 2
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50.

51.

If a place is affected by Tide at 6:00 AM
Monday, normally at what time the same
place will be affected by Ebb ?

(a) 6:26 PM Monday
(b) 6:52 AM Tuesday
(c) 12:13 PM Monday
(d) 00:26 AM Tuesday

In the diagram given below, there is a circle,
a square and a triangle dividing the region
into five disjoint bounded areas. Each of
these areas are labelled with number of
players belonging to that area. The circle
contains cricketers, the square contains

football players and the triangle contains

hockey players.
5 8
8 3
2
T

Which one of the following is nof correct?

(a) Every hockey player plays football

(b) Every cricket player plays either
football or hockey

(¢) There are some hockey players who

play both cricket and football

(d) There are some football players who

play neither cricket nor hockey

52.

53.

54,

There are two concentric circles. The radii
of the two circles are 100 m and 110 m
respectively. A wheel of radius 30 cm rolls
on the smaller circle and another wheel rolls
on the larger circle. After they have
completed one revolution, it is found that
the two wheels rolled equal number of times
on their respective axes. What is the radius

of the other wheel ?
(a) 31cm
(b) 32cm
(c) 33cm
(d) 34cm

A triangle is formed with vertices (0, 0),
(0, 100) and (100, 100). What is the number
of points inside the triangle with integer

coordinates?

(a) 5000

(b) 4999

(c) 4851

(d) 4800

Which one of the following is the wrong
number in the series 6, 14, 30, 64, 126 ?
(a) 126

(b) 64

(c) 14

(d) 6
(Contd.)
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50. ofe fFd == 9T §HET B 6:00 9

51.

qafgd ¥ SR @l 2, qf I W W
qreT wArga; | gy s 7

(a) WHAR 6:26 & JUUBA

(b) HIGER 6:52 &1 qaieAd

(¢) §maErT 12:13 §9 3qUEd

(d) #werErt 00:26 S5 JaEA

Ao Ry ™ at@ ¥, w39, @ 9
I oF Bye B, S &7 1 uiw 3@y
uitag &3 ¥ @ied 81 gA® &#FA W
37 @A d wafag Reefsdl 1 gau
sfpg 21 ga § Mg Reendt €, = &
gea faadt & SR Brgw # et

frafafes & & #Far @8 7@

2 7

(a) vaw efel faardt geam | @

(b) vas frde faardl o1 @ weae o
Ed @edl 8

(c) T© i faardt € s fde A}
HEaE Al @od 8

(@) T Heaw faardt & W oA @
fkde, 7 & g @od 2

52.

n
W

54.

*5

a1 HHea! ga & | QA1 gl @ Freang wwe
100 m 3 110 m 21 TF 30 cm Fogr &0
g @12 g9 F FUX deaAr A (TeA)
FL@ B AR TF U URA §3 9O W
o) iy FE@T B | I &0 TH ufGER
G FA D G T8 U @l B fh A
ulRdl 4 FUA-A9YA HeT YT ICE qewr
gFFY @me § | gae 9l & B Fm
g 7

(@ 3lcm

(b) 32cm

(¢) 33cm

(d) 34cm

Prgw sfsf (0, 0), (0, 100) X

. -

(100, 100) & @e w=™T T 2| By F
g 7

(a) 5000

(b) 4999

(c) 4851

(d) 4800

Freafafag & & 7, S9f 6, 14, 30, 64,
126 ¥ 7ot 3% 8 7

(a) 126

(b) 64

(c) 14

(d) 6
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55. Given below is a figure of a square

transparent sheet with a pattern :

A
A LA
00

Which one of the following is the correct
figure showing how the pattern would
appear after folding the above mentioned
transparent sheet at the dotted line ?

@ | A %
S
0 f
® | A I
/\ |
AL
0 I
(c) |
o>>
o [s]
A |
0 |

56.

57.

In a school there are three batches of players
who play cricket, football and hockey.
An incomplete chart of number of students
playing an individual sport belonging to an
individual batch is displayed in the
following table :

Batch I | Batch I | Batch ITI | Total
Cricket players 8 14
Football players 10 16
Hockey players 6 6 17
Total

Which one of the following is correct ?
(a) Batch II is empty
(b) Batch I and Batch Il do not have equal

number of students

(¢) Batch I and Batch III can have equal

number of students

(d) Batch II and Batch III can have equal
number of students

There are two boxes. Box I contains one
white card and two black cards and Box Il
contains one white card and a black card.
Two persons P and Q play a game. P picks a
card randomly from Box I. If P finds the
white card, P wins and the game stops. If P
finds the black card, Q draws a card
randomly from Box IL If Q finds the white
card Q wins. The game stops whether Q
draws the white card or the black card.
Which one of the following is correct?

(a) If P loses, Q wins
(b) IfQ loses, P wins
(¢) Both P and Q may win

(d) Both P and Q may lose
(Contd.)
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55. A R o o R ofteg @) a@ 56, wF = A faanf3dl & fm oc@ (d9) €

FmER 9REd 9 w2 st e, geara 3R ST ded &1 R
/\E/\ faftre <o & fadft Rflme @@ =1 doA
E/\ aa ol A @ 1 ww sy wfe
| (mre) Prfafea aroft # zorfar mn 2 .

A

0 0

Tl |z@n | TWmm|

Preffee & @ #tar, 98 @@ Rra 2 o Prie et B |
w auitr & B Swdw oRedt Fm @ e Rt 10 | 16
fig-Rifeg @ w MY W Pa wkew e et 6 6 | 17
T ? A

(a) Preafofem & & #1991 @ @8 8 7

(a) & Il R 2

e
L — A —

(b) (@ @ 13T g ML H BEN & |

gHT B gddl 8
57.

i
i
%
a,
3

o >>>>

aeww
R
53
o
S
2
4%

P

(c)

2% 5
%3

0>>

g
.
:
i3
:
A
§

Wy gy

2
a,
3
o
:

(d)

o> o>
O
)
)
P

(b) R Q =ar 2, o P Sfiaan
(c) P33R QA “d &=d &

(d)y P33 QR4 8 ¥Hhd 2
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58.

59.

60.

Suppose R is the region bounded by the two
curves Y = x?and Y = 2x? — 1 as shown in
the following diagram :

\dita

y=2x'~-1

Two distinct lines are drawn such that each

of these lines partitions the regions into at
least two parts. If ‘n’ is the total number of
regions generated by these lines, then :

(a) ‘n’ cambe 4 butnot 3
(b) ‘n’ecanbe4 but not 5
(¢) ‘n’canbeS butnot 6
(d) ‘n’canbe6

Consider the following sequence:

0, 6,24, 60, 120, 210

Which one of the following numbers will
come next in the sequence ?

(a) 240

(b) 290

(c) 336

(d) 504

Consider the following figure :

[

Which one of the following is the number
of triangles in the figure given above ?

(a) 22
(b) 27
(c) 28
(d) 29

61.

62.

63.

Recently French military announced to end
‘Operation Sangaris’, which was in
operation since 2013, in which one of the
following nations ?

(a) Chad

(b) Central African Republic

(¢) South Sudan

(d) Congo

Which one of the following cities hosted the

Tenth Ministerial Conference of World
Trade Organisation during December 2015 ?

(a) Geneva

(b) Manila

(¢c) Helsinki

(d) Nairobi

Which one of the following films was

awarded the best children’s film in Berlin
International Film Festival, 2016 ?

(a) Ottal
(b) Killa

‘(¢) Dhanak

(d) Hail, Caesar !

Which one of the following statements
regarding Zika virus is nof correct ?

(a) It was first isolated from a monkey in
the Zika forest of Uganda

(b) It is transmitted by daytime-active
Aedes mosquitoes

(¢) It does not cause mother to child
infection

(d) Zika virus in pregnant women results
in abnormal brain development of the
fetus

(Contd.)
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58.

39.

60.

A el RA & Y=x3 Y=2x>- 1
g} ufteg &7 8, o1 fF Frefafeg =

3 = Y@ 3@ ye | 9t g 6
A | YoAd (@ 9 A A hH d FH
a‘rwnﬁﬁhmﬁam%'luf?ﬁ 3

(@) ‘n’ 48 whar & AfPT 3 AL
(b) ‘n* 42 aEq B AfFF 5 T8
(¢) ‘n’ 5 & wWwar 2 dAfdT 6 7
(d) ‘o’ 68 TFHar 8

Prefafe seme o faaw SivE
0, 6, 24, 60, 120, 210

Freafafea & @ Y0 o, 29 e &l
et e Bnfr 7

(a) 240
(b) 290
(¢) 336
(d) 504

fFrafafea e o R $iw .

/I

fFrafafas & & <t =, Fox (Y Fx
7 fageEl & d@enm g 7

(a) 22

(b) 27

(c) 28

(d) 29

61.

62.

63.

64.

B B W OWiEED 997 A ‘efgeer gy’
AT HTA B OTIOOT HI | T AT
2013 & Frefafea e & @ fbw &
oo BT 91 7

(a) 4918

(b) HEY AT TR

(c) =& g

(d) Hr=m

Prfafeg ® @ e @ wey 7 Raw

2015 % e fvg =R @A F |d

HEEOT g RaT & A9arH #6 7

(a) SAam

(b) =

(c) afcam!

(d) AT

Preafafaa & @ e o few @ afefa

sy e w9dE, 2016 ¥ wafow

gl fhem @1 qREeR femr w7

(a) ez

(b)  fasew

(c) Yd%

(d) &, "ol

T (Zika) arsed & @ # Fefafea |

q FGT & Y9 el FE 8 7

(a) I |d9ud YAiST & A aF H Th
gex @ fage fgr mar o

(b) W& R & gwa ¥ wfby @9 w=a
# it &ar @

(c) U8 ®|i ¥ ¥=a & WHHT Fel FHal

(d) sfiwr argeg wefadt AlRaEl # qu @
gftaes F JuEmy fAFm F1 FRE

grar 8
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65.

66.

67.

68.

Which one of the following fiction was
selected for Man Booker Prize. 2015 ?

(a) A Little Life

(b) The Fishermen

(¢) A Brief History of Seven Killings
(d) Satin Island

Which one of the following is nof a source
of political legitimacy ?

(a) | Consent

(b) Rational prudence

(c) Political will of the ruler

(d) Public reason

Which one of the following is a

characteristic of Presidential form of

Government ?

(a) President is not a part of legislative
body

(b) It does not separate Legislative and
Executive functions

(¢) President follows the principle of

collective responsibility

(d) The tenure of the President depends on
the Legislature

Which one of the following Articles of the
Constitution of India contains provisions for
the abolition and creation of Legislative

Councils ?

(a) Article 171
(b) Article 169
(c) Article 356
(d) Article 182

69.

~J
S

71.

72.

73.

The provision under Article 51A of the
Constitution of India relates to the :

(a) uniform civil code for the citizens.
(b) organization of village panchayats.
(c) right to education.

(d) fundamental duties.

(a) Developing societies.
(b) Societies having multi-party system,
(c) Developed societies.

(d) Monarchical societies.

Who among the following sociologists is the
first to propound the concept of civil
society ?

(a) Adam Ferguson

(b) Antonio Gramsci

(¢) Friedrich Hegel

(d) Alexis de Tocqueville

The Constitution of Jammu and Kashmir
came into force on :

(a) 15 August 1946
(b) 15 August 1947
(¢) 26 January 1950
(d) 26 January 1957

Who among the following British
ethnographers launched the Survey of India
project in the 1860s ?

(a) Hunter
(b) Dufferin
(c) Risley
(d) Thurston

(Contd.)
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65.

66.

67.

68.

Prafafes F & sa w sumfea &9

FHC 9Ew, 2015 % ford gm mv ?

(a) T foee aEw

(b) T fherds

() T % fRecd arw a7 e

(d) &8s angd==

Feaffea & @ Sar o, torifas dgar

& Ha 78 2 ?

(a) weHfd

(b) THETT T

(c) ¥E&E F IAIGS FoTalad

(d) "dafs Freor

fefifes 4 & T 0P, AmHeEs

(Ufrsfroraer) sy #r @R & fEtver

g ?

(a) Teenfa Radft Frem = Ren &8
BT

(b) s fammdt afv srfufersr Faf =t
9aw, TE F

(c) Isgula apffes So@ma # Ra
1 9 AT 8

(d) Tsgufa Y wemefy fur-gsa g3 fasft
w2

qd & dfqgT & feaffeg ¥ & $99
Gy 7 g yRug § IemeT Ik
g9 & Iuey safase g 7

(@) =8 171

(b) IT=2T 169

(c) ¥FT=37 356

(d) =BT 182

69.

70.

71.

72.

73.

G & Wl & = 51§ @ adiH
IuEy feew wefag 2 7

(a) AT & o wraaE Rfew dfkar
(b) UMW UGETAl @Y gaey]

(c) e &1 afdrpre

(d) @

ot 2 7

(a) Rwmfa aaw &

(b) "gEe vl I e #

(c) Tawfaa @a A

(d) TsaAE g9 A
Feafafaa § & #9, Rfda aaw #
HHeqA] Y&d HCA aren 999 GHSEEE]
g ?

(@) 15 sTEd 1946

(b) 15 sor&d 1947
() 26 S 1950
(d) 26 FFaH 1957

Fafafag § § e ffew amaafdw
7 1860 & @9 W WILg F1 gaHor qRdrerT
gy # 7
(a) &CX
(b) W
(c) =
(d) =¥

(Contd.)
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74.

75.

Which of the following statements about
‘Barnaparichay’, a mid 19" century Bengali
text is / are correct ?

1. It was written by Raja Rammohan Roy

2. It was the most widely used Bengali
primer of the time

Select the correct answer using the code

given below :

(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor2

Which of the following statements about the

Champaran Satyagraha is/are correet ?

1. The Champaran region had a long
tradition of anti-planter discontent and
agitation

2. Mahatma Gandhi gave all India
publicity to the grievances of
‘Champaran cultivators

3. The cultivators of Champaran had
protested against excessive taxation on
sugar

Select the correct answer using the code

given below :

(a) 1only

(b) land 2 only

(¢) 2and3only

(d 1,2and3

76.

77.

Which of the following is / are characteristic (s)
of the debate between “Anglicists” and
“Orientalists” in the 1830s ?

1. The Anglicists wanted to cut the money
being spent on printing Sanskrit and
Arabic texts

2. The Anglicists wanted to cut the money
spent on printing Sanskrit texts, but
wished to continue to print in Persian

3.  The Orientalists wanted stipend for the
students of Arabic and Sanskrit

4. The Orientalists started a new Sanskrit
College in Delhi

Select the correct answer using the code

given below :

(a) 1 only

(b) 1,3and4

(¢) 1and3 only

(d) 2,3and4

Which of the following statements about

Exercise IBSAMAR is / are correct ?

1. Itis a joint exercise of Navy of India,
Brazil and Sri Lanka

2.  The fifth edition of IBSAMAR was
held in Goa

3. All previous editions of IBSAMAR
were held outside India

Select the correct answer using the code
given below :

(a) 2only

(b) 2and 3 only
(¢) 1and3only
(d) 1,2and3

(Contd.)
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74, fFafafeg & @ 98 $99,

75.

198t
I B He A AR UeuEE S’
R H wa 287

1. & e uwEed A e oo

2. U8 39 §HY P gailys Iu@m &)
WA Al Sl gafEmr o

e R ™ Hz 1 @ #T §E I

LR el

(a) @ad |

(b) ®ad 2

(c) 13 2 A

(d) 7 @ 1,7 & 2

TR qAWE B I ® frefataa ¥ @

FHiAE/& FA9 T 2/ 7

1. 9Ewr &7 ¥ sn-mie At
FHar T e @ el giu
<@ ot

2. HEICHT MUl $ g T & @fded
# fmmdl @ QR wd ® g e

3. =W § @fas]d A AT 9T sl
saaqr w1 {39y B

A RY M Fz & g@m H FE IT

(d 1,23 3

76.

77

1830 % wie # ‘Hiftdsi’ X ‘wreafaql’

& 9 g2 989 @ Preafatea 3 F S

faeroran/fadead 2/2 7

1. iffqs d@pa X ol oo & Hgor
9 @4 B gl gy ® e
T 9B A

2. iftas dwpd # w4l & HEU 9 @@=
2R gl gauf ¥ F s 9w
¥, 90g WA A e 9l @Al
B 4

3. wreafag, sl AR wepa & (gl
& fod gt =@ 2

4. gregfay 3 Reet ¥ & 7@ &
HeTagag grov  faar

A9 RY M FHz &1y FT T I

g

(a) Fad

(b) 1,33 4

(c) ®ad 1 3T 3

(d) 2,33 4

I IBSAMAR # R # freafafaa &

¥ FAE/A FaT G 2/8 7

1. U8 uXaq, s 3T sfiddr A AR
F TH GYFA U 2

2. IBSAMAR &I giegi &R0 ar |
g3 o1

3. IBSAMAR # @i yd @&heu «<a
¥ 9B BU 9

= BRI M Hz F 90T F ¥ I

g

(a) @ad 2

(b) Fa@ 2 X 3
(c) ®ae 1 3T 3
(d) 1,2 3T 3

(Contd.)
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78.

79.

80.

Which of the following statements about
‘Nairobi Package’ adopted in the Tenth
Ministerial Conference of WTO is / are
correct ?

1. No safeguard mechanism for
developing country members

2. Preferential rules of origin for least
developed countries

3.  Public stockholding for food security

purposes
Select the correct answer using the code

given below :

(a) 1only

(b) 1and2 only
(¢) 2and3 only
(d) 1,2and3

The ‘Paris Agreement’ adopted in

Conference of the Parties (COP 21) in

December 2015 will be effective provided

the document is signed by :

(a) 51 UNFCCC parties accounting for at
least 51% of global greenhouse gas
emission

(b) 51 UNFCCC parties accounting for at
least 55% of global greenhouse gas
emission

(¢) 55 UNFCCC parties accounting for at
least 55% of global greenhouse gas
emission

(d) 75 UNFCCC parties accounting for at
least 51% of global greenhouse gas
emission

Which one of the following cities hosted the
Twelfth South Asian Games, 20167

(a) Patiala
(b) Kochi
(c) Guwahati
(d) Agartala

81.

82.

83.

84.

The latest trophy introduced in Indian
domestic cricket competition is:

(a) Deodhar Trophy

(b) Vijay Hazare Trophy

(c) Syed Mushtaq Ali Trophy

(d) Duleep Trophy

Which of the following statements regarding
the Constituent Assembly are correct?

1. It was not based on adult franchise

2. It resulted from direct election

3. It was a multi-party body

4. It worked through several committees
Select the correct answer using the code
given below :

(a) 1,2and4only

(b) 2 and"3 only

(c) 1and4only

(d 1,2,3and4

Who among the following may be the
Chairman of the Zila Parishad ?

(a) Chief Minister

(b) District Collector

(c) Member of Parliament in the District
(d) Elected from its own members

What is meant by Social Equality ?

(a) Each person should perform the
functions according to his status

(b) No effort should be made to modify
the existing social system

(¢c) No person should be made to suffer a
position of relative inferiority in
relation to other men due to caste, race
or religion

(d) Special effort to improve the lot of
weaker section

(Contd.)
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78.

79.

80.

WTO # aod #Bray avie # &g

A0 Yy & ar § Pyeafefes o &

FAA/8 FUT Gl 8/8 °

1. fawmfe 3o qeal & ol #14 whum
e

2. ¥oyad fasfya aon @ ol seofr &
aftmrh Fram

3. @R e weHl & il adefre
¥ - 110

A RY M@ Hz & y@m FT wE I

AT

(a) Fad

(b) Faa 1 3T 2

(c) ®ad 23 3

(d) 1,2 8.3

feEaT 2015 § BU €IR-IG] & FEAGA

(e T WS/ 21) 0 wea

Yw wHsAar, T cEmEY 9K HAe g

geeT 3 s & uwrd ehnp ?

(a) 51 UNFCCC ®a&g g, o &8 @
FA 51% yHscdy freea o IwEd
F B

(b) 51 UNFCCC §e&g v, Sl &9 &
FH 55% spsea Mea o Il
EEGEN

(c) 55 UNFCCC 68w Tsg, ol &9 &
FH 55% Esed desa o Idsq
F B

(d) 75 UNFCCC ®5&g Usg, &t &9 @
FH 51% yFscy sy o Iawl
FXd B

2016 ¥ gu aed zfEw-uRmE @ #

fFrefafea ¥ @ g wd e A dwarE

oAt 7

(a) ufeamr

(b) Ff==

(c) TaTEE!

(d) Imden

81.

82.

83.

84.

aIeid ol e gfoeral ¥ e @ me

ARG IR BAE B 7

(a) QqEX I

(b) fasg swmt it

(c) #ug H¥a® Il ZiHl

(d) wefta it

gfag" g & ax A fefofeg & @

G Fuq wE B 7

1. % gu% HANg&R U 3nunid Fs
o} ;

2. U% ycge frafes & o+ &

3. WE UH wg-qoig em oa

7z At affedY & wom ¥ s
Far ot

= RY T & & g@m FT GE I
T

(a) ®ad 1,2 3 4

(b) Fad 2 AT 3

(c) ®aa 13X 4

(d 1,2, 33T 4

feafefea & & #Y7 Rren ofog &1 w81
al g&Fa.2 ?

(a) HETHA

(b) Frenferd

(c) 39 R &1 wgg-gasg .

(d) TP 91 weed ® A Fraffea

gt gurar & Fu7 A 8 7

(a) Ucds =af¥d # 39 2Rmd & FErn
Fed A aIMRY

(b) femr grfore agaea ® 9@ &
% ygE A8l Ry 9 =R

(c) Uxft Reufy, R enfa, gedw (&) @
gd & w9 off afl s
IfFadl & grer faar & Wfa 7 @

(d) #FaR @t & dm $ gae & ol
ey e

(Contd.)
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85.

86.

87.

Which one of the following is nef a feature
of Indian federalism ?

(a) Every State Government has powers of
its own

(b) Courts have the power to interpret the
Constitution and the powers of
different levels of Government

(c) States are subordinate to the Central
Government

(d) Sources of revenue for each level of

Government are clearly specified

The Joint Training Exercise, Garuda Shakti,
is conducted as part of military diplomacy
between Indian Army and .

(a) Bangladesh Army.

(b) Royal Bhutan Army.

(¢) Nepalese Army.

(d) Indonesian Army.

Which one of the‘ following statements

regarding Human Rights is nof correct ?

(a) Human Rights derive their inspiration
from moral principles

(b) They are applicable subject to their
adoption by States

(c) The International Covenant on Civil
and Political Rights was adopted by the
United Nations in the year 1948

(d) The universalism of Human Rights is

challenged by the cultﬁral relativists

88.

89.

Which of the following is NOT a characteristic
of the Permanent Settlement ?
(a) The Permanent Settlement vested

landownership rights in the Zamindar

(b) The Permanent Settlement continued
to pay attention to the customary
occupancy rights of peasants

(¢) The burden of the high revenue
assessment was shifted to the peasants

under the Permanent Settlement

(d) The condition of the actual cultivators
of the land declined under Permanent

Settlement

Which of the following is / are

characteristic(s) of the Ryotwari system?
1. It was the brainchild of Thomas Munro
2. ' It was meant to reduce intermediaries

3. Cultivating peasants were gradually

impoverished by the system

4. Tt was introduced in parts of Madras

and Bengal Presidency

Select the correct answer using the code

given below :

(a) 1 only

(b) 1,2and3
(¢) 2and4 only
(d) 2,3and4

(Contd.)
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86.

87.

Preafafaa % § Fd o, sy wRevar

#t Rgwar 72 &

(a) 9cO%F WY AT HT @Y P ool
gt 8

(b) =@ @ wRgE M @R &
AT g =1 wfrd & Fdes
FA B Wi 2

(c) U¥g B9 G & FdAed &

(d) TR & BY WX & fog Tue 3
g ' ®wy ¥ fafyfde &

F M @ &Y A §icdy a9 s e

dra far mar 7

(a) @TEARY /AT

(b) oA W T

(¢) AuTeh /AT

(d) WARmEE F

Ag g B a ¥ Preafafee F &

PG T FUF GE AET 8 7

(a) wa gsR Afe e & Fon
L

(b) 3, T R TFA FT AT 9T A1
Bid B

(c) Rfam v woifes IMFER w
af 1948 ¥ wFa ar 7 oA

(d) #ra R A g # argFis
grEaEl gATd a8

88. Fafafaa & & Fad), wrdl §as FH

89.

fagrorar =8 8 7

(a) ¥urdl S F y-w@ihca 1 AFR
e # PR G

el sdEe A FuUS A
CCRERILETRSIE I~ o e B A G
Tt dREE $ A, I=9 ATETN
Frafor &1 wx Fww o s@ R
= .

(b)

(c)

(d) Tl dRae i, W F arafaw
Fual # ogm ¥ fige o
Preafafea # & figa/d8, taarst g

& fagean(d) 28/2 ?

1. T8 9/Fa g # IQIET (3 9Ees)
A

2, AT IeWd Womafddl & FH FAT A1

3. g wumelt & Fwaw 4R-d4R Fma @
M

4. wEw wETE oY ame GRESH & B
¥ g& g m

A RY ™ FHiz # w@m F qE IW

T

(a) Fad |

(b) 1,23 3

(c) ®aa 2 3T 4

(d) 2,3 3T 4

(Contd.)
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90. Who among the following founded the

91.

Atmiya Sabha in 1815 ?
(a) Keshab Chandra Sen
(b) Debendranath Tagore
(c) Ram Mohan Roy

(d) Bijoy Krishna Goswami

Consider the following statements about the

Santhal Hool of 1855-56 :

1. The Santhals were in a desperate
situation as tribal lands were leased out

2. The Santhal rebels x-vere treated very
leniently by British officials

3. Santhal inhabited areas were

eventually constituted into separate

administrative units called Santhal

parganas

4. The Santhal rebellion was the only
major rebellion in mid 19" century
india

Which of the statements given above is / are

correct ?

(a) 1 only

(b) 2and3

(c) 1,3and4

(d) 1 and 3 only

92.

93.

94.

Which of the following statements about
Subedar Major Fateh Singh is / are correct ?
1. He was a big bore rifle shooter who

won two gold medals during first

Commonwealth championship

2. Heretired from Bihar regiment before

joining Defence Service Corps

3. He was killed during the terror attack
at Pathankot Air Force Base

Select the correct answer using the code

given below :

(a) 1 only

(b) 2 and 3 only

(¢) 1and3 only

(d) 1,2and3

Which one among the following is the oldest
Regiment of Indian Army ?
(a) Sikh Regiment

(b) Kumaon Regiment
(¢c) Punjab Regiment

(d) Madras Regiment

Which one of the following cities has been
identified as the best habitable city in the
8% Mercer Quality of Life Study, 2016 ?

(a) Munich
(b) Vienna
(c) Zurich

(d) Vancouver

(Contd.)
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90. Fwfafes & 9 BFa3 1815 & smedig gar

21

T T9AT F 7

(a) #9d I7% AT

(b) 2@=gATy 2N

(¢) UH HrEd W

(d) Rsm Fwr eEnd

1855-56 # waTa g1 & AR A FrerRiia

FgH] W) faER fikw

1. "aw o FrowmeEs Rafy § 2
it ST 9y 93 w2 &
oY

2. duw fagifedl & @ s siftmiay
1 w9gd AON ¥ eugsX fhar

3. |yl & Irafld &A F aa: quw
RECIE 15 M - | 1
A YETHTS Al W @ufed Y
fear mar a1

4. ot fagle Sdl &9 3 myg @
YIRd & THAA ygE fagE

SWE #  NAE/F FYT @ /2 ?

(a) @ad 1

(b) 23X 3

(¢) 1,3 3R 4

(d) Faa 13T 3

92, AT Ao HE Rig F AR ¥ Preafia

93.

94.

7 ¥ FFE/8 F99 98 B/8 7

. 3 T ¢ AR TEHA e} 4, Rl
9YR UeCHSA ARGTARY & ST 3
ol uge oI

2. T ¥ w1 A wiEd B & wed
3 ferk WAz ¥ Fafga gu 2

3. 3 YIHHIT 4G AT IF YT Y AT
B B QT AR

A R W w5z & w@m wT I

gﬁi:

(a) ®ad

(b) @aet 2 30T 3

(c) #ad 1 3R 3

(d) 1,23 3

freafafes & & f19d8 w, sl 3
& g&d g W 8 7

(a) Frg Wiz

(b) T WAz

(c) durg Iz

(d) www IWEe

FoTedl WHY FEMerd! ATH AIEE T,
2016 # Frefofea wed & ¥ fog & #1
qafod awAny weT  ®©9 ¥ ggurAT W
2 7

(a) =g

(b) fom

(c) W™

(d) FHaY
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95.

96.

97.

98.

Which one of the following States won the
61¢ National School Athletics Championship
in the year 2016 ?

(a) Punjab
(b) Kerala
(c) Maharashtra
(d) Tamil Nadu

In February 2016, which one of the
following countries has rejected the plea of
the incumbent President through a
referendum to contest the Presidential
election for the third term ?

(a) Brazil

(b) Paraguay

(c) Bolivia

(d) Peru

The theory of Separation of Powers is a
division of powers between :

(a) Central and State Governments.

(b) different branches of Government.

(c) the polity and the economy.
(d) State and local Governments.

The Tenth Schedule to the Constitution of

India relates to :

(a) the provisions relating to the formation

of District Councils.
(b) the land reforms.
(c) the States and Union Territories.

(d) the anti-defection law.

99.

100.

<D

The amending power of the Parliament is
set forth in which one of the following
Articles of the Constitution of India ?

(a) Article 368

(b) Article 360

(c) Article 13(2)

(d) Article 370

With regard to a Constitution Amendment
Bill, which one of the following statements
is not correct ?

(a) The Speaker of the Lok Sabha can call
ajoint sitting of both the Houses to pass
the Bill

(b) Each House needs to pass the Bill
separately by a prescribed special
majority

(c) The Bill can be introduced in either

House of Parliament

(d) The Bill can be sponsored by a Private

Member
‘Cut Motion’ can be introduced after the

presentation of :

(a) any Bill introduced in the Parliament.
(b) the Railway and General Budgets.
(c) any Private Member’s Bill.

(d) a Constitution Amendment Bill.

(Contd.)
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95. Fafafas & & #19 @ w Tsw A
a8 2016 ® THESAl ANAA T QyAfEF
Afgafim i ?

(a) o™
(b)
(c) weTTSg
(d) TS

96. wE{ 2016 ®, Freafifea § & o
W A yewy ysgufy &, i sEfy @
foe sgufe &1 g dgd # clfta @
A GUE.F g IS H R ?
(a) i
(b) T
(c) deiifamr
d) ¥

97. Wi wdsw &1 g e &= ¥ widaar
1 Ao @ 27
(a) H5 TF U R
(b) TewR it AT amerd
(c) Usu-euaed] Ug efenaed
(d) TS & AT @R

98. wid & WG 1 Tgdl IgA FFad
gafw 8 7
(a) Foren oRwEl & o7 @ wafa Iuadr @
(b) o FaT &

(c) T=ui 3T wY UswEA
(d) To-wge fadt & @

99. |WHE HI FYA FIA @ wfdd, Wd B
wiagr & i & @ B @ aq=ag
7GR g7
(a) IFIT=0% 368
(b) =BT 360
(c) FT=T 13(2)

(d) IT=B% 370
100. gfaam d@wras @tgs & d@ed ¥ Fe=fafea
¥ d 91 OF FUT dal 76 8 7
(a) WHEHT HT Fee fARuF F1 RG FOA
& fo 41 @weAl A dgF doF gon
gear 2

(b) f¥gs +1 g* ¥ g, f[¥fea fBew
SgAd 9, -3 uiikd R S
CICEDE

(c) Riws 1 dgg 3 fFh & wg7 A
qEarad far S wear 8

(d) favme #1 R-gead aey g §f i
ferar s awar @

101. Fett geara’ & Fad IwyumT # 9%
qEgitd fagr smogdar 2 7
(a) =1 fadms < wog ¥ yeafa
T 8
(b) I@F 3 WY Tele
(c) #1E N-uard geey RAgs
(d) #¢ wfaam oy RAdus

(Contd.)
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102.

103.

104.

Who among the following divided

governments into  ‘Republican’,
‘Monarchical” and *Despotic’ ?

(a) Aristotle

(b) Hobbes

(¢) Montesquieu

(d) St. Augustine

Who among the following coined the terms

‘Demand Polity’ and ‘Command Polity’ ?

(a) Lloyd I. Rudolph and Susanne
H. Rudolph

(b) Rajni Kothari
(¢) Sudipta Kaviraj
(d) Paul Brass

Which of the following statements about the
Bengali literary epic, Meghnad Badh Kabya
(1861), is / are correct 7

1. It was written by Michael Madhusudan
Dutta

2. It draws upon existing Hindu and Jain
traditions of Ramayana

3, It was translated into Assamese and
Hindi

Select the correct answer using the code

given below :

(a) 1 only

(b) 2and3

(c) land2

(d) land3

105.

106.

107.

Which one of the following is the famous

novel written in 1869 by Nazir Ahmad?

(a) Twilight in Delhi

(b) Mirat-ul-urus

(¢) Bahishti Zewar

(d) City of Djinns

Which of the following statements about the

founding of the Indian National Congress

(INC) is / are correct ?

1. The INC was formed in Bombay in
1885

2. The first president of the INC was
W.C. Bonnerjee

Select the correct answer using the code
given below :

(a) 1only

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

The earliest literary references to iron in the

Indian Sub-Continent are found in the :
(a) Rigveda

(b) Samaveda

(¢) Yajurveda -

(d) Vinaya Pitaka

(Contd.)
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102. Frefafea & & e, aed &1 ToEEg’,

TeaAE’ dX wWeswEr’ ® dfer ?
(a) AT
(b) @i

(c) wiew

(d) ¥ sfreerA

103.Fr=fafas ® & g /Mesia win

Teg-egaeyr (R#fs dffardt)’ st FdfRm
UY-aed] (FHIS uiferer)’ F1 wea-fAafo
frar ?

(a) TGS I8 TEITH T YA T, GBI
(b) T IS

(c) FIT FlawT

(d) e s

104. aelt @ifefcus wehey A9ATE 99 HIey

(1861) & art ¥ Frefafe & & FAa//
YT g8l /8 7

1. T8 AIedhd HYEET & g forar mar a1

2. g8 vHmY it e g & S wawE
7T i 8

3. waehn st A RS F sars foar
a1

A e gz @1 9 FT ger In gAY
(a) a1
(b) 23T 3
(¢) 13T 2
(d 133

105. =l & & &9 @1 =, 1869 A

AHIRX IBHE grq foran T 9RE ST
2 7

(a) TATEEC T SeE!

(b) Frge s=w

(c) afeged Sax

(d) B aftw Rrea

106. 9T A Hidg (INC) ® T84 $ aR

¥ Prafafaa & & FAa/@ w9 @l
8/8 7

1. INC# 7&9 1885 ¥ swag # gam o
2. INC® wum 3yeqel ssaft. afeil
Y R e 1 y@T FT FE IO gAY
(a) aer 1 |

(b) /Fact 2

(©) 13X 23T

(d A 1L,TE2

107. 9T IY-HBRIY H A8 H gagyy giefeas

e forad Myear 8 7
(a) g
(b) HaT

(c) TIHR
(d) fa=g fre=

(Contd.)
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108.

109.

Match List | with List II and select the

correct answer using the code given below
the Lists:

List I List I1
(Author) (Book)
A. Dadabhai Naoroji 1. Essays on Indian
Economics
B. Prafulla Chandra 2. Poverty and Un-
Ray British Rule in
India
C. Mahadev Govind 3. Economic
Ranade History of India
D. R.C. Dutt 4. The Poverty
Problem in India
Code :
A B C D
a 2 4 1 3
b) 3 1 4 2
) 2 1 4 3
d 3 4 1 2

Consider the following statements about the

Morley-Minto reforms of 1909 :

1. They were named after the British
Parliamentarians, Minto and Morley

2. They provided for limited self-
government by increasing the number
of elected Indians in the Legislative
Councils

3.  They contained provisions that ensured
that British officials retained their
majority in the Imperial Legislative
Council

Which of the statements given above is /

are correct ?

(a) 1 only

(b) 2 and 3 only

(¢) 1 and3 only

(d) 1,2and3

110. Identify from the following the novel written

1AL

by Charles Dickens that critiqued the
adverse impact of industrialization on the
poor.

(a) The Day Before America

(b) Hard Times

(¢) Creating a Nation

(d) The Courtier

What is the meaning of the term “Humanist”

used during the Renaissance in 15" century

Europe ?

1. It refers to the masters who taught
grammar and rhetoric

2. It refers to the masters who taught
poetry, history and moral philosophy

3. It refers to the masters who taught
subjects that were connected with
religion

4. It refers to masters who emphasized
skills that were developed through
discussion and debate

Select the correct answer using the code

given below :

(a) 1,2and3

(b) 1 and 3 only

(¢) 1,2and4

(d) 2and 4 only

(Contd.)
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108.4= I+ ¢ & gafem kA 3R

ga & A" Ry g w @ v
#er Iu g

- 11
(e (g)
A. TEWE AR 1. @9 3T sk

THANATE
B. Wged @8 3 2. Wiadl Uz sRfew
®q 39 sredl
C. w#ered Midg 3. ghaime feeed
T3 I FfEw
D. X #@ T 4. T W&l ueAy 3
g
FT
A B C D
@ 2 4 1 3
) 3 1 4 2
€ 2 1 4 3

@3 4 1 2

109. 1909 F Ari-fareT gardd & s 7 Fefafea

w1 9X e #ifE

1. T Amewn fafew e, frer
AT A, ® AW 9T R omamooar

2. %, Rum oftwsl ¥ Faffe st
# geur ¥ g T ffd == w6
Jusy faar AT o1

3. TH W Iuy sdfdse A REw U
ghfea gan & Gfewr sl $ffRae
faem aReg # 9= @gHd g7 @

IRdFT FaAl # wAA/E G B/E 7

(a) Fad 1

(b) ®ae 230X 3

(c) ad 13T 3

(d 1,233

110. Feafofaa ® @ =ed -9 gra @ g

111.

39 ITAE & ggAEry ed ThE o
iR & o7 987 A gfdee 9T
& AT B g A 7

(a) T 3 fwre @i

(b) &S TR

(¢) e ¢ 3w

(d) T #ETT

15 & waredl 3 g9 F gASiRe &
R Y weE ‘g’ & w91 anyd
g 7

1. s 3I7 el w1 Ffdse e 2

T SUEHCOT T JAPT-9TEA Fr e
T 2

2. U& 39 FwgH @ (Afdse Far 2 W@
ey, e v Ay zef7 9 Ber %@
D

3. e 39 ywmmd = Affse s & o
yd {93 fawai 1 Ren 39 2

4. T8 39 AR w1 fAfdse w@r g W
faar-fawet ik ae-fRarg 3 mag |
e 8 I Sl 9T ad 39 A

A Ry Fie H1 gan FT w9 I g
(@) 1,23T 3

(b) Fad 13T 3

(c) 1,234

(d) @ad 23T 4

(Contd.)
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112. Which of the following was/were the

113.

features of the Quit India Movement ?

1. From the very beginning, it was a rural
revolt

2. It was essentially a moderate
movement

3. It was marked by the unprecedented
use of violence

4. It was marked by acute state repression

Select the correct answer using the code

given below :

(a) 1 only

(b) 1and?2

(¢) 3 and4only

(d 1,3and4

Which of the following statements about the

new style of architecture of Rome in the 15*

century is / are correct 7

1. It was marked by a complete break
from the past

2. Itwasactually a revival of the imperial
Roman style

3. The Architects familiar with classical
style were employed by wealthy
merchants and aristocrats

Select the correct answer using the code

given below :

(a) 1 only

(b) 2and3

(¢) 2only

(d) 3 only

114.

115.

Which of the following statements about the
ideology of Utilitarianism in the context of
British India is / are correct ?

1. Utilitarianism believed that the rule of
law was necessary for societal
betterment

2. James Mill expounded the principles
of Utilitarianism in his famous book,
“Utilitarians and the Raj”

3. Utilitarians differed from the liberals
in significant ways

4. Utilitarianism had distinct

authoritarian tendencies

Select the correct answer using the code
given below :

(a) 1 only

(b) 1and 2 only
(¢) 3 and 4 only
(d) 1,3and 4

Which of the following statements about the
Swadeshi movement in Bengal in 1905 are
correct 7

1. It was marked by the mass mobilization
through the organization of “Samitis™

2. It was marked by the mass mobilization
through labour strikes

3. Itadvocated a constructive programme
of self help or “atmashakti”

4. In the sphere of education, national
schools were established

Select the correct answer using the code
given below :

(a) 1,2and3 only
(b) 1 and 4 only
(¢) 2,3 and4only
(d) 1,2,3and 4

(Contd.)
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112. F=ffee & & #19 @/8, 9w |y

113.

JATT F/H Ivasvr qi/g 7
yey § & e arfv RAde
2. UE WO &Y H TH AHGA AT A1
3. Foem @ angogd yam seet favwar &
4, TS QR GAS FHA F@H fa9ear 6
A Ry iz 1 g w1 @8 39 gy

b

(d) 1,39 4

15 4 wrarsdt § AH F wqwey A AE @

# g ¥ Preafafea w991 & & S/

wer 8/8 7

1. sl & g0 aw@ R=dq ae fdmm
oY

2, U@ aEqq: qrafoush YHF WA 1 gTEA
aq1

3. e Al & aRRE A @
a3 sl g Prgwr
ST o

A R e &1y FT @ I A

(a) ®ad 1

(b) 233

(c) ac 2

(d) Faa 3

114. fafear 9@ # ded ¥ IygfigEm i

faarog & sk § Fefafas sa A
¥ HEE/8 "@Er 8/8 7

1. IuuiemEre ¥ g Rwam B wm
a1 & wareig gg=fa # g [Afy &
A HEUF 2

2. W B A IWifaEr & fEk #

ot ig ye gRTeRe=w Us @
o' W gfafea B

3. SydfiamErd), Serafedl & arfs v H
Sr=ar wad 3

4. IvATCrEE A BT aemees gt 9

= R @z #1 yam w1 @8 I g

(a) Fae |

(b) Haer 13 2

(c) wHaer 3 AT 4

(d 1,334

115. 1905 % s # gy @Rl s & an

¥ Preafafaa so91 & @ 98 98 § 7

1, ‘ofafgr $ §rsT & W § SH-gued
< fagar. A

2. ¥ gSawc B WrgH @ TH-§YCT T
fagomar o

3. % tE9-Q4l Iyar “IeHuiEa” & TIAAS
HRHH FT UT-gHYS A

4. B & &7 ¥ vy Bacm wnflg o
TTQ

e R T e F g HT g8 I g
(a) Had 1,23 3
(b)y Fad 13 4
(c) Fad 2,3 3T 4
(d) 1,2,33%4
(Contd.)
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116.

117.

118.

Who among the following is the winner of

the 8" Human Rights Award by Amnesty
International, Germany ?

(a) Monira Rahman

(b) Abel Barrera

(c) Alice Nkom

(d) Henri Tiphagne

Which of the following pairs of Scheme and

Target Group, as initiated in the Railway

Budget 2016, is / are correctly matched ?
Scheme Target Group

1. Antyodaya Express :  For the Reserved

Passengers

2. Deen Dayalu Forthe Unreserved
Coaches Passengers

3. Humsafar For the Reserved
Passengers

4. Tejas For the Unreserved
Passengers

Select the correct answer using the code

given below :

(a) 1,2and3
(b) 2 and 3 only
(¢) 3and4

(d) 2only

Who among the following is the first person
outside Indian Navy to become the Director
General of Indian Coast Guard ?

(a) Krishna Chaudhary
(b) Rajendra Singh

(c) Prabhakaran Paleri
(d) H.C.S. Bisht

119.

120.

121.

122.

Who among the following is the winner of
the Jnanpith Award for the year 2015 ?

(a) Bhalachandra Nemade

(b) Raghuveer Chaudhary

(c) Pratibha Ray

(d) Girish Karnad

Lance Naik Hanmanthappa Koppad, who
was buried alive under snow by deadly
avalanche at Siachen Glacier, who later died

in a hospital after he was miraculously

rescued by army, was a soldier of :

(a) Dogra Regiment

(b) Madras Regiment

(¢) Rajput Regiment

(d) Jat Regiment

Which one of the following was the Theme
State in the 30™ Surajkund International
Craft Mela ?

(a) Chhattisgarh

(b) Kerala

(¢) Telangana

(d) Bihar

Department of Industrial Policy and
Promotion, Government of India, has

recently decided to set up India’s first

defence industrial park at :
(a) Kochi

(b) Ottappalam

(c) Mysuru

(d) Bengaluru

(Contd.)
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116, Ao ® & wgAedt e Ao, w1

g few wu 83 mwHE afde g
(3@rs) wi/a e #t7 8 7

(a) AT @HH
(b) & T
(c) o wHEH
d) Th Rwm
117.3d a9ie 2016 ¥ Iy &1 78 @y I
deq gye & fFeafafea gl § @ S8
gel gHfoa 8/8 7
= aqE GHE
1. Sicdied wEEyd  :  SLEV arel gial
+ fo
2. W W EEd < RET s am
s ot & ol
3. BHEET . TCEAVT a1t ArHat
& forr
4, 9 . feT amcer any
ofyat & ol

A9 Ry T fE w1 WM #T §E ST
T -

(a) 1,233

(b) PHaw 2 T 3

(c) 33X 4

(d) Fac 2

118. Freafofee & 9 9, v dexes &0

HeIagid q47 drell, WRdw AEar §@
g8 &, BTN qd 8 !

() Fo1 Al

(b) &= fE

(c) WHHTA gordd

(d) T ¥ . fuse

9. Fr=fafag & & #:19, af 2015 % R

FAdE R F1 e 8 7
(@) wRTE= AA

(b) AR <l

(c) wfowm ¥

(d) frder wfs

120. 99 A9% gAY wws, W R

121

122,

fBrag A s wawc fewaa (YEenwn) &r@
g% & e Prar gwT 8 T A, R
A9 g1 IHeHIR® &Y ¥ w9 fow 9
% IO WG H OIGATT A ey B
frg WAz & = F ?

(a) srru Wiz

(b) wwm WHe

(c) g e

(d) e Wiz

Freafafee & & S s, 309 gEss
Fradeg fBrey A F 5w wsg ouar 7
(a) STETS

(b) #%

(c) o

(d) feer

7 B & H 9RG #1 vean & G
s HEl g s &1 iy fomr & 7

(a) Hifem
(b) eI
(c) #gE
(@) ¥ge

(Contd.)
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123.

124,

Who among the following scientists of
Indian origin is / has been the President of
Royal Society ?

(a) Ronald Ross

(b) Har Gobind Khorana

(¢) Chandrasekhara Venkata Raman

(d) Venkatraman Ramakrishnan

The largest greenhouse gas leakage in the
US history took place in February 2016. The

gas was :
(a) Carbon dioxide

(b) Methane

(¢) Chlorofluorocarbon

(d) Nitrous oxide

o S

125. Which of the following statements is /are

correct ?

1. Gravitational Waves were predicted by
Albert Einstein in 1916 on the basis of
his theory of General Relativity

2. Gravitational waves do also exist in the
Newtonian theory of Gravitation

3. Gravitational Waves are to be detected
by very sensitive detectors known as
Interferometers

Select the correct answer using the code

given below :

(a) 1 only

(b) 1 and3 only

(¢) 2and3 only

(d) 1,2and3

-
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123. Frfofea & @, 9l g9 &1 st
anfys, g gEwd w1 FwmE /7@
g7
(a) VAT Aq
(b) EUNfE=E G
(c) T EIET FHTHY
(d) FFTHT THFSTH

124.US & zfderg ® @@q w31 Mi9eea 9
Ram wad 2016 % gam | 98 9 @7 &
off 7
(a) @ griieaEs
(b) AT
(c) FAU-TFIU FlaA
(d) ey fFrEs

125.Frfofea #aa1 & @ #9 q/a 98
8/8 7
1. T&cdg a3l @t wiysErft 1916 #
HEAT ATFHUCIET G IS GH
InfErar & Rrgia & snae T &)
T o

2. TEcAw a1 Al Teammt Raia §
ot fFaa &

3. TEEm qon &I, ulEmommdt ATHE
sfcEagTvie dgEs!, & gy ayfa
ST 2

e Re 7 gz F1 g ST wd I g

(a) dad 1

(b) @Ha 130T 3

(c) Had 23T 3

(d 1,233
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[ 59 aF sTTer 9% gderr gRaaT @Yed #T A7 ¥8T W a9 aw 7 @ ]

HA A : B-ABNG-P-HBJ gliegor g AFFEA

amv‘.[ ] :
wdrar i

YeA-97 | : WG grEdar od glemer | ]

(7w : @ w2 | ' quifE - 250
AT

1. wher wow @ % gow AR, oY %@ qhsor giewr @ e smww ww |
#r§ BET DA, I AT WEST T S FUAT weAE A T Al Al @ q, A W
ey gt & aew Ao

2. mmtﬁﬁiOMRm-mﬁ,sﬁmmm,fmwaﬁtwﬂmgﬁammw
ﬁEA,&CWDﬁ,Wﬁ@ﬁWMWmW%ﬂﬁSﬂTW
frerar Iufar 9t &1 Bl ot wer A sE/famnfy @ Rafy #§ sEe
fear s |

3. wﬁmmwulaﬁmmaﬁwﬁm
FgT pEET fereem 8 | o g oY S 39
7 fore |

4. mqﬁmgm?flzsm(m)ﬁqmﬁl_mmm%wﬁsﬁtmﬁa’fﬁm
2| s weATe § 9 W (ITR) Ru e ¥ AW SgeR 1 g9 d, B smg See-ms
o S FCT TR B O ST Y@n o B we A AR sogor w8 @ 9@ yegwe
sfbq BT S IR Gt o GAE weArm # R Sde gF @ SRR A €

5. mmw;@mwm%ﬁqmw—wwasfﬁﬁmhm—wﬁﬁqﬂqﬁ%ml

6. @t wIAN & IF @A € |

7. ¥ e R oy afienr gRas & AR gEel $ wegER ST W s $TT e
X AR T Yo # Y ARG IR $ SER 9 e IOwE 4 A #

8. mmﬁaﬁwﬁﬁm—mﬁm%%mamwﬂm%ww%awm—m
gfem A @9 2 TR ewd @y qhew gRew @ 9 @ Al

9. H=Y FW & fu yAw whew gRaer A weOd B

10. Tad I H g zoE
Tgfre we-wE ¥ gefima g Ry e e ewd @ fag wve Rar smomd
(i)mma%mwhmm%»mmmma?mﬁqmwm

I # e wA g Proa B g sE @ we-Red avs $ w9 # wrer
(ii)nﬁﬁimﬁ@@mmhiﬁzﬂmmmm,wﬁm
o gad F A ud Iow @R o g, R of 9w wer & fg sudwriE @ S A
&1 qus fRur Q|
(iii)uﬁmmaﬁmmaﬁﬁmmammmmﬁﬁm
ST 2, @ 99 ugA & fag #E gee @ fan S

[ ST aF ATTRT qF G yRasr @ted F 7 w87 Wi a9 aF q @ J

Note : English version of the instructions is printed on the front cover of this Booklet.
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